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PHYSICAL ANALYTICAL AND INORGANIC CHMISTRY.

OBJECTIVE QUESTIONS

SR.
QUESTION BTL | CO
NO.
Symbol of Surface tension is
A vy B [P]
1 C. n D. n R
YUBALELAL s 9.
A v B. [P]
C. n D. n
Liquicll state have definite , but dges not have definite .
AL Shape. Volume B. Rigidity, Volume
C. Volume, Shape D. Shape, Rigidity
2 UALEL BAAZZHL 2551 Sl 89, YR 255 Sld, =il U
AL USSR, 52 B. 5EldAl, 52
C. 5%, US12 D. 21512, sElAAL
Drop pil':)ette is correlate with .
A Surface tension B. Viscosity
C. Concentration D. All of the above
3 siu Mz usala B HSOPLAL 9, U
AL UBALEL B. (Z25AL
C. HigAL D. GUz-LL HHL 57
pH meter is useful for the measurement of
AL Surface tension B. Viscosity
C. pH D. Pressure
4 21 oo < maralinf A
pH #l22 AL HIUA HIZ G120l 9.
AL yzdn B.  [Razaqdl
C. pH D.  couul
Ostwald viscometer used for measurement of
A Surface tension B. Refractive index
C. WViscosity D. None of the above
willzaless [FAzsidHlez L LA HLE SR ED.
5 A U ALISL B. Aslisiis U
. [Z1o=taL D. Gzl Hizil 515 —dl
With rise in temperature, the surface tension of a liquid
A. Increases B. Decreases
C. Remains the same D. None of the above
6 AlHLA AH12AL UALEL yBALRL : U
A 9y B. a2
C.  dzd sy D.  Guz-l Hidl 5195 dl
With the decreasing molecular mass of liquid, the viscosity
A Increases B. Decreases
C. Remains the same D. None of the above
7 w1612 AH1ZAL UAULELAL [eAoHAL u
A, 9y B. a4z
C.  Azderzg D.  Guzaiwidl 519 <l




The ratio of velocity of light in liquid to that of velocity of light in air is called

A. Surface tension B. Refractive index

8 C. Viscosity D. None of the above
SALHL USLLAL AL 244 UALEIHE US1LUAL A21AL LRI < 56 %9,
A yARl B.  asleiAis
C. [z D.  Guz-iwiEl 515 dél
method is used to measure surface tension of a liquid .
AL Capillary rise method B. Drop formation method
C. Ring detachment method D. All of the above
9 UALELAL UBALRL HIUA HIZ e AU 9.
AL Eugd] ads wEla B. 21ui st waA
C.  Zmdlzan-z wsala D.  Guadl oHl sr
Instrument is used to find the refractive index of a liquid.
AL Pyknometer B. Spectrometer
C. Abbe’s instrument D. Stalagmometer
10 wiALSLAL Asleais ai=a HUHA AU 69,
AL wsdislez B. zusziHl22
C. 21600 HUH-A D.  z=qouidHlzz
Reaction rate can change with
AL Temperature B. Addition of a catalyst
C. Concentration of reactants D. All of these
11 SIDRI ST RIS TR R
AL AMHLA B. GElus Gzl
C.  ulzasidl Aigqal D. GUzAL HHL 57
A reaction in which all reactants are in the same phase is called
A Elementary B. Bimolecular
C. Homogeneous D. Heterogeneous
12 oy UEAHE o= B0 2is or alilds [Falani gt A< 56 89,
Al wEe{ls B.  [zazuedla
C.  zmuia D.  [Aauwnia
A+B+C—D.is type of reaction.
AL Unimolecular B. Bimolecular
C. Trimolecular D. Tetramolecular
13 A+B+C—D. % ustz-l ulsa .
A BiszRHlY B. (Zazieslx
C. TR l'i'fa"-l D. 2{':[,91le::'3[‘-|.’-|.
On increasfng temperature the rate of a reaction - .
AL Increases B. Decreases
C. Remains the same D. None of the above
14 AMHLA AH1ZAL WAL 0L DIE
AL gy B CE]
C.  Adzderzg D.  Guz- ikl 519 dl
For reaction, the molecularity and order of the reaction arc same.
A. Bimolecular B. Trimolecular
C Bimolecular and Trimolecular D. None of the above
15 ulsaL 1Lz 2aedlsdl 2t Ul usH 42 s
A [zazuedla B, [Bzuedld
C. [zazuedld 244 Bziedl D. Guz uigl 516 4l
tvs = 0.693/K is an equation for ............. order reaction.
AL First B. Second
16
C. Third D. Zero

t¥% = 0.693/K %i sHAL ulza1d 2 29,




The unit of rate of reaction is

A. Concentration B. Time
C. Concentration / Time D. Molar
17 ul521 A1l BisH .
A. Adigdl B. HHA,
C.  Aigdl / 4Ha D.  #Higz
When initial concentration of reactant is M, then K is called specific rate
constant.
AL 0.1 B. 0.01
18 C. 1 D. 10
a2 UEALAL MRS Higdl M ci, 412 K A (Al 400 suzmis séae.
A 0.1 B. 0.01
C. 1 D. 10
The unit of K for first order reaction is )
A.  Molelit' S B. &S
19 C. (Mole/lit)! D. Mole lit!
ULy sHAL UBEALHIZ K AL 254 G159,
A. Molelit! S! B. S
C. (Mole/lit)! D. Mole lit"!
If concentration of reactant is made half, then the rate of reaction becomes
A. Half B. Twice
20 C. Equal D. Constant
oL WEASIAL Ulgdl 2485 521l 2ud, 4L ulza o ZIRh
Al wel B. sl
C.  mawl D. w3y
A system that can transfer neither matter nor energy to and from it’s surrounding is
called .
A. A closed system B.  An open system
21 C. Anisolated system D. A homogeneous system
¢ URUEL god 5 Al walazm A s d 4 sdl A5 dd s 9,
A, oig yeudl B.  vedlumdl
C. [amoil wendl D.  dluuio uendl
A thermos flask is an example of
A. A closed system B.  An open system
C. Anisolated system D. A homogeneous system
22 | AHIsARs 4 BeleziL 9,
A. o uoudl B.  vedluondl
C. [aoil weudl D.  dluuiouendl
Zink granules reacting with dilute hydrochloric acid in an open beaker constitutes
Zink gtr;l;u..lteﬁsh‘;;e;::bting with dilute hydrochloric at:;;l Lihnta;;agl;;n beaker constitutes
A A‘closed system B. An open system
C. An isolated system D. A homogeneous system
viEEl cilszHi sz Alsl He aidiisaitls szils 2ua-Hl wlsa 4 GelseL 9,
23
AL ol= uensl B. viedl mensl

C. [Azaoil mensl D. lzamiol el




The heat capacity at constant pressure is related to heat capacity at constant volume by
the relation

A. Cp-Cv=R B. Cp/Cv=R
24 C. CpxCv=R D. Cp+Cv=R
0L EALEL GUHIAHAL <L 24U 52 GRIAHALAL o 89,
A. Cp-Cv=R B. Cp/Cv=R
C. CpxCv=R D. Cp+Cv=R
Law of ‘encrgy conservation is explained by l law of thermodynamics.
A. First B.  Second
C. Third D. Zero
25 GoA el (493 Gerollagnzsat-l BRERLIEE T CIRIETES
Ao gy B.  sflen
C. =lsxi D. g
Exothermic process: )
A. Have no energy change B.  Absorb energy
C. Give off energy D. Not predictable
26| Guiaus ulsami:
A GrMLAl 52512 AdL <Al B.  Gwiaiy
C. Guiauy D. #uzpn sdl as <6l
Entropy is a measure of of the molecules of the system.
A. Randomness B.  Concentration
C. Velocity D. Density
27 SicZindlst wpndlel stsiidl o HINES B,
A vl B.  Higdl
C. 499 D.  4ddl
An isothermal process takes place at constant .
A.  Pressure B.  Volume
C. Temperature D.  Concentration
28 Al ulsnmi 201 1A 9.
A, eoull B. s
C. dlumi D.  Higdl
On system there is no effect of temperat’;lre and pressure.
A. Open B.  Closed
C. Isolated D.  None of these
29 wollel] w2 drymie st 2ot 2124z adl .
A. b\{;c-::ﬂ B. iy
C. [qaoil D.  GuzdaruiEl 519 <él
Always for an adiabatic process for an ideal gas
A. g=0 B. e=0
C. w=0 D. H=0
301 sued av i wiidl ubeuami :
A. g=0 B. e=0
H=0

C. w=0 D.




A. AS B. AH
C. AU D. AG
31 —q+w
A. AS B. AH
C. AU D. AG
The entropy of the universe in all spontancous processes.
N Increases B. Decreases
32
C. Remain same D. None of the above
HLLUHIL 2Ll Rl UsHLHLD [Asa-dl -2l
A AEL 29 B PRI
. Sizcil o 2z 19 D. Gzl Hizil S0 Al
The entropy when ice melts.
A. Increases B.  Decreases
C. Remain same D.  None of the above
33 oIz o125 oo A szl
A 94y B. 42y
C. 2zdloree D.  GuzdLHidl 516 4l
Mathematical form of first law of thermodynamics is .
A. AU=q-w B. w=AU-q
C. AU=q+Pv D. Agt+tw=AU
3 | o~ e an S
Gruoifdazaidl uam [ oupldl zazu w9,
A. AU=q-w B. w=AU-q
C. AU=q+Pv D. Aq+tw=AU
When indicator changes a color in titration?
A.  Atstarting point B.  Atend point
C. At half concentration D.  None of the above
35 | iHIuANL YA D9 2R o12d?
A u3u4 Ui B.  aifqu [sizat
C.  wieHl Aigdl» D.  GuzdlHidl 519 <l
In gas chromatography is used as stationary phase.
A. Gas B. Liquid
C. Sold D. None of the above
36 | S siHzinglH 22uAd 3o ddls _ auain @,
Ay B.  yadl
C. aqd D.  Guadlwidl 5195 dl
Precipitation occurs when:
A. Ip<Ksp B. Ip>Ksp
C. Ip=Ksp D. None of the above
37 G4 AL DAY 2L
A. Ip<Ksp B. Ip>Ksp
C. Ip=Ksp D.  Buz-lHidl 519 <6l




is added to aqueous CH3COOH solution to get common ion effect.

A. NaCl B. KCl
C. CH;COONa D. NaOH
38 UHLA DUAA DU HAAAL CH3COOH HI_ BHAIHI 14 99,
A. NaCl B. KCl
C. CH;COONa D. NaOH
If concentration of a salt in its aqueous solution is less than 0.1 M, then the salt is
called:
A. Soluble salt B.  Sparingly soluble salt
39 C. Insoluble salt D. None of these
f ARl GLABRHE A #12Al ¢loAdL 0.1 M 5241 2419 I, Al 56
A gl A B.  wseycgis sz
C. w1z D.  Guzl uidl 5195 «dl
salt is insoluble in water.
A.  PbSOs4 B. CaSOy4
C. SrSOq4 D.  All of the above
40 ez el sigien 9,
A.  PbSOs4 B. CaSOy4
C. SrSO4 D.  GuzdlsHl sy
Type of volumetric analysis is
A. Redox titration B.  Precipitation titration
C.  Acid-Base titration D.  All of the above
4l 52 HIUS 425520l Usl2 .
Al 2808 pqHIUA B. 218U 2A4HIud
C. 21l oAD% 2AHIUA D.  Guadl oL sy
is useful to precipitate out 2" group elements in inorganic qualitative analysis.
A. NaCl B. HaS
C. NHiOH D. NHuCI
42 2U515Als LR Y2a 52T ol UGl dedld AA9EA 5341 GuAil 9.
A. NaCl B. H:S
C. NH4OH D. NH4Cl
Milk is an example of
A, Gel B Sol
C. Emulsion D.  Colloidal solution
3 | cam -4 GELg2EL 9,
A eyy B. w4
C. v D.  sdlaglan
The scattering of light by the dispersed phase is called
A.  Brownian movement B.  Tyndall effect
C.  Scattering D.  Electrophoresis
44 [AEdlA sl saRl Adl ustadL ugliad _ seaa e,
A Gl ald B. Zlesd vz

C.  lasza D. daszisizala




ot

Physical adsarption is process.

A. Irreversible B. Reversible
C. Irreversible and Reversible D. None of these
45 | elilas wisflalive s w341 9,
A wuldadl B.  ylqadl
C. 2ufdddl 244 uldadl Do 2 uidl 5165 <6l
We can not get the colloid of
A. Gas + Solid B.  Solid + Liquid
C. Liquid + Gas D. Gas+ Gas
46 LU sefla odl aslst 44l
Al A+ ad B.  ad 4+ yadl
Co madl + 4y D. a4+
Micelle is also called colloid.
A. Multimolecular B.  Macromolecular
C. Associated D. Lyophilic
A7 | mEad_ sdla e sgam s,
A olg gy B. (4212 »uedly
C. ofld D.  qeusldls
Lyophogic colloids can be prepared by method.
A. Condensation B.  Dispersion
C. BothAandB D. None of these
48 1 ariigiels sdla WA [A 212 oAl 2L,
A, Hudd B.  [G#uq
C. AwudBoid D, wywigl 5160 46l
Sol of gold. silver and platinum can be prepared by method.
A Mechanical dispersion B. Electric dispersion
C. Peptization D. Excessive cooling
2, 2UEL 2 VESZlAHAL 2SS e A 2o ol suse
49
A Aisils [AEaa B. [(FAailn (Rara-
C. aZlsz D. 2z s1zEL
shows zig-zag motion in colloid.
A. Coagulation B.  Precipitation
C.  Tyndall effect D. Brownian movement
50 scllaui aisl-a5l (Flo-2at) ald sidid
A a5t B. mqf{mrt
C.  Zledsiuz D. ':,uG-{lZH ald
The explanation of Brownian movement was given by
A. Robert brown B.  Robert boylc
C.  Albert Einstein D. Tyndall
51 A . - cdl ¢
Gl oAl qusy 24121 2L Al
A 92 601G, B. sz olidd

C.  2pe02 vl 2210 D.  Zlea




pH +pOH =

A 0 B.
C. 10 D. 14
>2 | pH +pOH=
A, 0 B.
C. 10 D. 14
The process of adsorption is
A. Exothermic B.  Endothermic
C. Sometime Exothermic and D.  None of the above
53 Sometime Endothermic
wiflatptl ulsna 9.
A GMIAYS B.  Gwlalius
C. DA% GWIAUS 214 24125 G Higlis - D. Gua-L wigl 516 dl
is used to get accurate value of pH.
A. Litmus paper B.  pH paper
C. pH meter D.  Universal indicator
>4 | dissu pHe yer giltal Q1A 59,
A, dlzHy yuz B.  pHuuz
C.  pHHlz= D.  wdsils yas
P e TuwomTmmesowmow
Kohlrausch’s law is useful for electrolytes.
A. Strong B. Weak
C. Neutral D. None of these
55 it 1 2 Ak o S Euaiof o
Sl [4aH (454 [Acues 1z Guieil 9.
A, ws B. [qoln
C.  dz9 D.  GuzdlHidl 519 «dl
Potenti;l-c;f Standard Hydrogen Electrode is ]
A. 0V B 10V
o6 C. 1V D. 100 V
UIHLE A 1 21e7e Zadl dizellra A 59,
A. ov B. 10V
C. 1V D. 100 V
Potential of Calomel electrode in saturated solution of KCl is
A. 03335V B. 0.2810V
5 C. 02422V D. 0V
Hedtd KCI Ul glaBHi 58144 gadl Wil Sl 9.
A. 03335V B. 0.2810V
C. 02422V D. 0V
electrode can be used as a reference electrode.
AL Hydrogen B. Calomel
58
C. Glass D. All of the above
UAAL GUALIL 25221 A A%ls 531 wsed
A SLES SLmr L B. EETEIEY
C. sl ) ) D. | GMEAL L Sy




Hydrogen electrode consists of metal strip.

A.  Gold B.  Silver
C. Platinum D. Iron
| @Silon A Bl 221U A1 Al 2UA D9,
A Hid B. i
C. &2l D. dvis
g NaOH is required to prepare 0.1 N 1 litre NaOH solution.
A. 40 B. 0.4
cC. 4 D. 10
60 14122 0.1 N NaOH < ¢148l o194l g NaOH or3<l 2.
A. 40 B. 0.4
c. 4 D. 10
0.1 NHCI= M HCI
A1 B. 0.1
61 C. 365 D. 3.65
0.1 NHCI= M HCI
A1 B. 0.1
C. 365 D. 3.65
Normality of a solution is the number of of solute per litre of the solution.
A. Moles B.  Equivalents
C. Formula weight D. Mole fraction
62 | 3is dlzz qami siuadl gl v G2 s¢ 9.
A oy B.  qesiz
C.  avlaade D.  wHiaaiy
We can make primary standard solution of .
A. HCI B. NaOH
63 C. KOH D. Oxalic acid
4 waHls glan sidl asn
A. HCI B. NaOH
S R e
The number of moles of a solute per liter of the solvent is called
A.  Normality B.  Molarity
C. Molality D.  Formality
64 w15 €122 glasHi 26dl gLl Hid-l Hvaid 5 69,
A qiyidldl B.  wiqildl
C. wedlil D. zixidlzl
__ 1is a pungent smelling substance.
A. NH; B. H2SO4
C. NaOH D. HNO;s
6> dld A 524 29,
A. NH; B.  H2SO4

C. NaOH D. HNO;s;




salt is useful for the preparation of caustic soda.

A. NaCl B. MgCl,
C. KCl D. NaNO;
66 #12 512215 ALt stetiazui Guadiofl .,
A. NaCl B. MgCl,
C. Kcl D. NaNOs;
is known as king of chemicals
A NaOH B. HC1
67
C. H>SO4 D. HNO3
L ZALLELLALL 2177 AZLS 20T £9.
A NaOH B. HC1
C. H>SO4 D. HNO3
Ammonia is manufactured by method.
A. Habber B.  Contact
C. Electrolysis D.  None of the above
68 | Syl YA (A 24121 ALl 2s1A
A, @2 B.  sie2s2
C.  daszidlilu D.  Guzdiwigl 516 dl
Catalyst used in manufacturing of sulphuric acid.
A. Fe B. ALO;
C. Va0s D. Al
69 P . . -
Uezdls wdladl sl zul Balus Auud 9.
A. Fe B. AlO;
C. V205 D. Al
Chemical formula of Potassium dichromate is
A.  KyCrO4 B. KyCnOy
C. KMnOy4 D. KNO;
70| dizeilam stz wmeils »a 9.
A.  KyCrOy4 B. K;CrnOy
C. KMnO4 D. KNO;
A system that can transfer nither matter nor energy to and from it’s surrounding is
called
A. A closed system B. An isolated
71 C. An open system D. A homogeneous system
o WAL g2 5 U5l uaiaze A iU & 4 530 905 dd 50 wendl 56 69,
A. EERITENS] B. <Alzwoil wendl
C. viedl wensl D. UM ioL ueuEl
A thermos flask is an example of )
A. Isolated system B. Closed system
7 C. Open system D. Heterogeneous system
AH15HIZS Ul GELERRL 9.
A. Alzoil wensl B. o ueLEl

C. vieef] weudl D. (Fzamion wendl




-

A gas contained in a cylinder filled with a piston costitutes

A. An Open system B. Heterogeneous system
C. A closed system D. An isolated
73 lzze A1A Rl ME A M2dl G A4 56 waudl 56 9,
A. vied| uendl B. (Auiol nendl
C. ol weuEl D. Al2woil uendl
A system that can transfer both energy and matter to and from its surroundings 1s
called
A Isolated system B. Closed system
C. Open system D. Heterogeneous system
74 sy welEl gt s Al wadliazen wiE wun A5l 945 A 590 ueudl s 9,
A. “Llz1oil wensl B. oi= wiEnEl
C. el wesEl D. [Fraamion wenEl
Zink granules reacting with dilute hydrochloric acid in an open beaker constitutes
A Isolated system B. Open system
C. Closed system D. Hetcrogeneous system
& vied| oflsaHi 2lilelz Alsl He 1o gl sallzs sidls -l ulsan 50 wendl s 9.
A Al weuEl B. vied| LlljllC'Ll
C. ol weusl D. (Auiol neudl
A system in which no thermal energy passes into or out of the S);stern is called
A Adiabatic system B. Open system
76
C. A reversible system D. Closed system
S el lHL Grslza nensl-l »izz 5 otz A sxdd 205 A 550 ueusl 5@ 9
A. HLHL ulduﬂl B wccil eLLEl
C. A=Al ul:;uc-il sl D. oiEg ulguc—[l
Which of the follo;,ving p-roperties is not a function of state?
A. concentration B. Internal energy
C enthalpy D. entropy
77| lacumisl st opsst Gad (@i .
A. Algdl B. wlidles uls4
C. sy el D. wiezl
The heat capacity at constant pressure is related to heat capacity at constant volume by
the relation
A. Cp-R=Cv B. Cv-R=Cp
78 C. Cp-Cv=R D. R-Cp=Cv
BIYUL EOLLEL GEHAHAL i A0 52 GEHAHAL AL UoH
A. Cp-R=Cv B. Cv-R=Cp
C. Cp-Cv=R D. R-Cp=Cv
Which of the following is not true. '
A. H=E+PV B. H-E=PV
C. H-E- PV=0 D. H=E- PV
& Alunisl s 21 4l
A. H=E+PV B. H-E=PV
C. H-E- PV=0 D. H=E- PV




The tendency of a process to occur naturally is called

A. Momentum of the B. Spontaneity of the reaction
reaction
80 C. Equilibrium of the D. None of this
reaction
522l Zld UlsaL Geu 2l gld- 9 s¢ 9.
A ulsi-l ala B. UUHOL 4l ulza
C. Ulsa14 dqa- D. 519 el Al
A spontencous change is accompanied by of internal energy or enthalpy.
A. increase B. decrease
C. neither increase nor D. None of this
81 decrease
LUYHOL AAl UlsA1 218 2UARSU5A 1AL il 21 89,
A 412l B. CEIRA)
C. A ML A 82131 D. 516wl AL
Entropy is a measure of of the molecules of the syst:am.
A. concentration B. velocity
C. Zig-zag motion D. Randomness or disorder
82 szl uendldl siawii-dl 4 Wy 8.
A. Algdl B. 491
C. Alot-oboL aula D. LIS AL
Entropy is a measure of __ of the molecules of the system.
A. concentration B. velocity
C. Zig-zag motion D. Randomness or disorder
8 | Si-anil wendl- stasii-l 4y 8.
A. Algdl B. 491
C. Ala-2at ald D. =AUl
With rise i;';-t’e’rrrlpé’rature.the surface tension of a liquid o
AL increases B. decreases
C. Remains the same D. None of the above
84
AUHLAAL ARLzLAL 202 vALElAal R AL
A AHLZL B =21l
C. TG 2D D. s weL b
The formula used in drop-number method for determination of surface tension of liquid
is
A. Y1/ y2= madi/nidz B. Y 1/ Y2 =n1d2/n2d1
85 C. Y1/ Y2=n1d1/m2d2 D. Y1/ Y2 =n2d2/n1d1
UBALEL HIuALAL ZustopAidl wsad 4
A. yi/ y2= n2di/nidz B. Y 1/ Y2 =n1d2/n2d1
C. Y1/ Y2=n1d1/n2d2 D. Y 1/ Y2 =n2d2/n1d1
Viscosity.c;f au llq‘l‘.llCTLI.; a measure of T
AL Repulsive forces between B. Frictional resistance
the liquid molecules
C. Intermolecular forces D. None of the above
36 between the molecules

UALELAL [ZosAn-d Hin

A. HALELAL BBl A2 B.
LAULELRL 5L
C. LUUBIL A2 widzziely D.

siul

2B AT,

£185 wiL Al




The formula used for the determination of relative viscosity by Ostwald’s method is

A. nl/ n2=d1t1/d2t2 B. nl/ n2=d2t1/d1t2
g7 C. nl/ n2=d1t2/d2t1 D. nl/ n2=d2t2/d1t1
wlizAles Al Raomdl sl s2aud 4
A nl/ n2= d1t1/d2e2 B. nl/ n2=d2t1/d112
C. nl/ n2=d1t2/d2t1 D. nl/ n2=d2t2/d1t1
In general, the viscosity with temperature
A. decreases B. increases
g8 C. Remains the same D. None of the above
AlHLA 2l AL Azl 208 uaéldl Rassami
A. 95131 B. A28l
C. UTVASY 26 D. 516 weL <Al
The Spccifici}efraction is given by the formula ’
A Rs= n2-1 = 1 Rs= n>+1 > 1
n>—+2 d n’>-2 d
C. Rs= n%-1 = 1 Rs= n>+1 =1
89 nz-2 d nZ+2 d
ElfEe asleimdis 2209 ax
A. Rs= n>-1 = 1 Rs= n2-1 = 1
n°+2 d n>+2 d
C. Rs— n°-1 = 1 Rs— n’-1 =1
nz-2 d nZ-2 d
The molar :riefriactioni is given by the formula - 7
A Rv— n2tl = M B. Ryv— n-1 < M
n>+2 d n>+2 d
C Ryv= n2+1 x M D. Ryv= n3-1 x M
90 nZ-2 d nZ-2 d
21 Agleadis 2ulad mA
A Rv— n’+1 =< M B. Rv— n’-1 x M
n>+2 d n>+2 d
c Ryv— n2+1 x M D. Ryv— n?-1 = M
n--2 d nZ-2 d
Insects can walk on the surface of water due to
91 AL viscosity B. surface tension
C. refractivity D. Optical activity
WALELAL 22l U2 Sz AL AzAll-d s1ze
A. [EELET B. UBALL
C. ALl HAA D. RYETETRET] T PT
Viscosity can be determine by
A. Ostwald viscometer B. Abbe Refrectometer
C. stelagmometer D. PH-meter
92 | (Beord diett 4 Ml U511
A. wi1zA1es [zs13l22 B. w5 255214122
C. 22qau 422 D. PH #l22
Refractive index can be measured with
A. Ostwald viscometer B. Abbe Refrectometer
o3 C. stelagmometer D. PH-meter
A5l ML 9L A8 1l Az,
A wlizales [AzsiHlzz B. w151 252122
C. w2qoH 4l D. PH #l22




To determine surface tension apparatus used is

A. Ostwald viscometer B. Abbe Refrectometer
C. stelagmometer D. PH-meter
4 UBALL 455l 5291 A4 Al
A wlizales [Azsilzz B. w101 gszilez
C. z2qoH1Hl22 D. PH l2=2
Reaction rate can change with
A. Temperature B. The addition of acatalyst
C. Reaction concentrations D. All of these
95 Al @i ulsaize sizany &9,
A. AlUHLA B. Grlusl GHa
C. nlsAl AUigAl D. 54167
The rate law relates the rate of a chemical reaction to
A. The concentration of B. The temperature
reactants
96 C. The activation energy D. The reaction mechanism
22 <llau 20iBd 2zelas ulsaez aidl uz suslzq
A. ulsus-l Aigdl B. AlYHLA
C. Alsn9lsq D. ulsal FalaA
To study ;i;; ur;;e uofa reaction.it is necessary to I
A Identify the reactants B. Know the relative amounts of
reactants used
C. Know the overall D. All of the above are necessary
97 chcmical equation for the
reaction
U[EALEZAL 2L HILZ oozl
Al WlE25-Al il B. a5l AL 2, Hs
C. ) ul.“j:;’u:'gia'a-l’lsa_li} D. i oMLY
A reaction in which all reactants are in the same phase is called
A. clementary B. bimolecular
C. homogeneous D. Heterogeneous
98 6% Ul ot ulsast wiser olifAs RBaln it
A. PIEICE” B. (Zazuedly
C. AHioL D. EEEHE]
A+B+C - =products
AL unimolecular B. trimolecular
C. bimolecular D tetramolecular
A+B+C ————— e L L7
99
A Sisuesila B Hlne=ila
C. [SCETIEE 1) D. SR ERTICC
In true solutions,the diameter of the dispersed particles is in the range from
A. 1ATo 10A B. 10A To 100 A
00 | € 100185 To 2(_)0_A D. 200 A To 500 A
QAL glapHl [alud seidl =uz,
A. 1ATo 10A B. 10A To 100 A
C. 100 A To 200 A D. 200 A To 500 A
In a suspension the diameter of the dispersed particles is of the order
A. 10 A B. 100 A
C. 1000 A D. 2000 A
101 | Suspension i [F#fIA sEidl =41,
A. 10 A B. 100 A

C. 1000 A D. 2000 A




A colloidal solution consist of

A. A dispersed phase B. A dispersion medium
C. A dispersed phase in a D. A dispersion medium in a
102 dispersion medium dispersed phase
s(ad glam =21 .
A. (Aldsal B. (Alsz01 HiEAaH
C. [AlGEsa [Alzo 1L D. (AlzauEam (Ale st
The sols in Which the Eiispersed phasae exhibits a definite affmity for the medium or
the solvent is called
A. Lyophillic sols B Lyophobic sols
103 C. emulsions D. hydrosols
o GLARHL (A2 [UA 5AL HIZH 24291 ¢lA5 HIZ U5TEL H1A 9,
A. clas AUlss B. clas [Hes
C. JIEEn D. Gl
the scattering of light by the dispersed phase is called
A. Brownian movement B. Tyndall effect
C. adsorption D. electrophoresies
1041 BafA se 2L U5l [Aezed o 56 99
A. AG[Ax ol B. (24 2u2
C. Z1CHITIY] D. (A5 2194
In lyophobic sols.the dispersed phase has no for the medium or solvent
A. repulsion B. attraction
C. solvetion D. hydration
105 | gy [Fesw [AlEsalA glas 12 G1A 69,
A. wuI5EL B. I
C. Aledl D. Gl
do not show Tyndel effect
A. True solution B. colloidal solutions
C. suspensions D. None of these
106 (Zeet w132 291ad 4l
A. UL glaeL B. slad glan
C. YU D. SIHUBL AL
The movement of sol particles under an applied electric potential is called
A. Electrophoresis B. Electro-osmosis
C. Electrofiltration D. None of these
107 ([A5A Rafaniddl 2142 e slaaspid 224idz 5 9.
A. Haszizlzaly B. DaszlztizHlAlA
C. Haszllzezaq D. slEuBL Al
The movement of the dispersion medium under the influence of applied potential is
l;r?OWﬂ asosmosis B. difusion
=7
108
. electro osmosis D.

EEA FEalaria-dl 20z csoqa AlEzeruasaaa ==2-iaz

A ERTE N R R B.
C. HASZ Iz L=z D.

Electrophoresis
el £9.
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If the sol parﬁcles in a given colloid moves towards the anode,they carry

A. Positive charge B. Negative charge
C. No charge D. None of these
109 | wyiian slaqmi UIASFLL el %A AZ5 AUA 52 AL A2l AL [AHA12 42104 9.
A. o B. e
C. (A5 ARUR 4312l D. SIHUBL Adl
A sol of ferric chloride moves to the negative electrode.the colloidal particles carry
A. No charge B. Positive charge
C Negative charge D. None of these
110 325 seiadad did oL 94 425 9ld 52 4l s[aasel 210 [@34ez 32 9 9.
A EERCIELEERT) B. e
C. il D. sifum <l
The continuous rapid zig-zag movement executed by a colloidal particale in the
dispersion medium is called
A. Tyndall effect B. Brownian movement
111 C. Electrophoresis D. peptization
slaaseuHdl [AlszamiEanui add 200l Hlo 2o aldd 4 s,
A. [Zed 2z B. oG lauq ald
C. Haszizizzla D. CAELSEEE T
The phenomenbn of concentrations of molecules of a gas or liquid at a solid surface is
called
A. absorption B. adsorption
112 C. catalysis D. None of these
A 5 UALElAL se-l ae AUzl Uz 2segld 29l a2 g s,
A. IRIE B. SICRTIRIC]
C. Grlua D. siHuRL dl
Physical ad\sorption is ’
A. exothermic B. endothermic
C. Some time exothermic D. None of these
Some time endothermic
113 aiilas 243 wive
A. GrHIAUS B. GrHLIlMS
C. 5195912 GUHL AUs 519512 D. siduR dl
GrHLlMS
The conc;nt;;;ic;n of a solution is defined as
AL The amount of solvent B. The amount of solute present in
present in a given amount a given amount of solution
of solution
C. The amount of solute D. The amount of solvent present
114 present in a given amount in a given amount of solute
of solvent
clAil-Al Higdl =28
A CLARHL gLas-il Hi= B CLARIHL Lol Hi=
C. greA-AL HIEL glasHL D. clas-l His gleam
The molarity is defined as the numberof moles of solute present in
A. One litre of the solvent B. one litre of the solution
C. One kilogramof the D. One kilogramof the solution
115 solvent
HL BIUOLEL ¢ledAl HIdAL ZivAid HiaEl2] sd 9,
A. w5 dl22 glas B. 25 dlzz glam

C. w15 (541K gl D. 25 [5dlUM glam




The molality of a solution is defined as the number of moles of solute present in

A. One litre of the solvent B. one litre of the solution
C. One kilogramof the D. One kilogramof the solution
116 solvent
HL BUEL gledAl HIG-AL dvdid Hialdll sa .
A. w5 4l22 gl B. 215 dlzz glam
C. wi5 (541U ¢145 D. wis [EluH glan
Normality of a solution is the number of of solute per litre of the solution
A. moles B. equivalents
C. Formula weight D. Mole fraction
B7 1 Gis dllze GLARLHL BALLIEL Gle4L dvyld AHidlZ] 56 9.
A Hld B. AP
C. glzvidl A9z D. Hld g
A saturated solution is Defined as one Which is with the excess of solid at a
particular temperature
A. In contact B. In equilibrium
118 C. Contains impurities D. None of these
GLARL S 67 AL55H AlUHLA AHUZLAL Bl HIL G del Ul GlABL 56 89,
A. dusul B. HAdAHL
C. 2191+{l241 9219 D. SIHUBL AL
In super saturated solution,the amount of solute is in comparison to saturated
solution
A. more B. less
119 | C. Equal to D. None of these
Adrd glapledl AL sq A glapldl s Hdtd glaeL $ia .
A. ERTE] B. 21189
C. Uz D. siduet «dl
The solubility generally rises with
A. Increases in temperature  B. Decrease in temperature
C. Increases in volume of None of these
120 the solvent
1L ALHLAL A ClSAAIHL 4512141 69,
A AlYHLAAL 94121 B. AlMHLAAL Bl2LsL
C. ALERTE R TIEEIE]] D. SIHUBL AL
In a saturated solution there exists an equilibrium between
A. Solvent and excess of B. solution and excess of solid
solid
C. Solid and excess of D. Solid and excess of solution
121 solvent
Hdrd glaBHL 424, U Gli 8.
A 1S il AHI21ALAA B. GLARL Dl AHI2LAL S

C. el Blel AHI2LAL C1AS D. Ael 2l AHIRLAL GlAS
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The number of moles of a solute per kilogram of the solvent is called

A. formality B. normality
C. molarity D. molality
1221 3 Bdium GLARHL 26EL gLl HideAl dvaied
A PIEEIED] B. A1zl
C. Hiqizlzl D. HlaudlZl
The molarities of 0.1N solution of HCL and 0.1N solution of H2SO4 are respectively
A. 0.1Mand 0.1M B. 0.1 and 0.05M
C. 0.05M and 0.1M D. 0.1 and 0.2M
123 | 0.IN HCL %t 0.1N H2SO4 glani-l sicuslZl
A. 0.1M 4 0.1M B. 0.1M w14 0.05M
C. 0.05M 2t 0.1M D. 0.1M 24 0.2M
The normalities of 1M solution of HCL.1M H>SO4 and 1MH:PO.
124 AL 1N, 2N 3N B. 2N 3N N
C. 0.1M.0.2N and 0.3™ D. 3NN N
1™ HCL.1M™ H>SO4 and 1MH3PO, gcrae-il —liislZL
A. 1IN 2N 3N B. 2N 3N N
C. 0.1M.0.2N 244 0.3N D. 3N 2NN
IN 1.0M solution of sulphuric acid,the moles of hydrogen ions present will be
A. 1.0M B. 2.0M
125 C. 3.OMH . . D. o 4.0M
1.OM wegifos il glapHL 26AlL GLOilsr vl dvwi
A. 1.0M B. 2.0M
C. 3.0M D. 4.0M
The enthalpy of asystem is defined by the relation
A. H=E+PV B. H=E-PV
C. E=H+PV D. PV+E-H
126 o - I S
neLEll 21l wHlsze
A. H=E+PV B. H=E-PV
C. E=H+PV D. PV+E-H
Haber processis used to manufacture
A. ammonia B. Nitric acid
C. Sulphuric acid D. Hydrochloric acid
127 | Gtz A et Gewtem Gwilsll &,
A. il B. ADZls wils
C. dezifzs vilag D. MRS ELER 2R
Contact process is used to manufacture
A. ammonia B. Nitric acid
C. Sulphuric acid D. Hydrochloric acid
128 | 2us vAl aidl Gne-t Gwitoll 8.
A. B{HIAlAL B. AlDZls vl

C. wezifzs BB D. Gl ssalls wilRis




Catalyst used in haber process

A. Fe B. V205
C. Pt D. AlLO;
129 ~ e Y
o1z UL quadl Grlus
A Fe B. V205
C. Pt D. AlLO3
Catalyst used in contact process
A. Fe B. V205
130 C. Pt D. AlO3
wus HAHL quzldlL GElus
A. Fe B. V205
C. Pt D. AlLOs
is prepared by the electrolysis of brine in nelsen cell.
A. NaOH B. H>So4
131 ¢ NH;3 D. K2Cr207
et AGHL oAl LAl [A4AlAs1sr 48 4 GAUled 524141 2419 89,
A NaOH B. H>So4
C. NH3 D. K>Cr207
The emf of the standard hydrogen electrode is
A. 0.0 volts B. 1.0 volts
132 C. 0.5 volts D. 2.5 volts
UHIAA 1551574 [A94YA4L O 211,215
A. 0.0 volts B. 1.0 volts
C. 0.5 volts D. 2.5 volts
Standard cell potential is
A Measured at a B. Measured when ion
133 temperature concentrations of aquous
of 25%C reactants are 1.00™
C. Measured under the D. All of the above
condition of 1.00atm for
gaseous reactants
PH of the solution can be Measured by
AL PH meter B. PH paper
C. Universal indicator D. All of the above
134 method
grae-l  PH izl sl asi
A PH meter B. PH paper
C. H1sls mas wsala D. LSy
The first law of tl:.errnodynernics is
A The total energy of an B. total energy of a system and
isolated system remains surroundings remains constant
constant through it may
change from one form to
another
C. Whenever energy of one D. All of the above
zes o
1sa; cars.equivalent
135 al‘l‘lollj.lli)‘lt of ar?other type is

produced

Grrl sifAazunzaaal masn Fean

Al neLEl-il st 2lEa 2o 2aE 29 sl 2 wAiEmzE-il se wlsza
Bis 2Ll sllm zazaHL UL el £9
HUiAZ Wi 29,

C. S lEUEL s Wslz-il wlEzqa LT

22 2L A=sSilow HIsHL
il 254 G-l 2 29,




The work done in the reversible expansion of a gas from the initial state A to B is

A maximum B. minimuim
C. Equal to zero D. Equal to infinity
136 | it A#l B ufAadl Fzazemi ad sii
A. Heu B. SR
C. I D. A
The thern:i)c-hemical equation may be
A multiplied B. added
C. substracted D. All of these
137 Grriziarilons wHlszom 2 as.
A. ABLLELZ B. HZALOLL
C. suEstLsl D. o5, o
Those processes in which the temperature remains fixed.are termed
A. Isothermal processes B. adiabatic processes
C. isobaric processes D. cyclic processes
138 | 6y USIAIHL AIUHIA 220 26 dd
A. AxAnl uslu B. ALl uslu
C. Axelt usbu D. als1 uslu
Those processes in which no heat can flow into or out of the system.are called
A. Isothermal processes B. adiabatic processes
C. isobaric processes D. cyclic processes
1391 & wdbau weuclls Graw wall s stz Alsofl asdl -l
A. HHANL uslu B. AL ugla
C. “He usl D. Alsy usli
Law of energy conservation
A. First law of B. second law of thermodynemics
thermodynemics
140 C. Hess’s law D. None of these
ulsAazizn-l (4am
A. Grut afAzuzsal uaH ([am B. GrHL otfaguza-l oilesl [Aan
C. ERel  [Aau D. sieueL dl
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